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BACHELOR OF EDUCATION (B.Ed.) 

Term-End Examination 

Q 1. 	 June, 2019 

By-127 : ASSESSMENT FOR LEARNING 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry 
equal weightage. 

1. Answer the following question in about 
600 words : 

Discuss various scales of measurement with the 
help of suitable examples. 

OR 

Critically explain the constructivist perspective 

of assessment with the help of suitable examples. 

2. Answer the following question in about 
600 words : 

What are the characteristics of a standardised 

tool ? How is a standardised tool different from a 
self-made tool ? Explain. 

OR 

What are the features of online examination ? 
Explain the procedures of online examination 
with its advantages and disadvantages. 
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3. Write short notes on any four of the following in 

about 150 words each : 

(a) Question Bank 

(b) Diagnostic Testing 

(c) Functions 	of 	Continuous 	and 
Comprehensive Evaluation 

(d) Sociometric Techniques 

(e) Split-half Method of Reliability 

(f) Intelligence Quotient (IQ) 

4. Answer the following question : 

Calculate the mean of the following distribution 

by using Assumed Mean method : 

Class Interval 
(C.I.) 

Frequency (f) 

60 — 64 1 

55 — 59 2 

50 — 54 3 

45 — 49 

40 — 44 7 

35 — 39 10 

30 — 34 6 

25 — 29 4 

20 — 24 2 

15 —19 1 

N = 40 
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